@ a—-72R
(B Fr2)
L5, + |50 56 57 58 59 60
it ERAE | ML | EAR | MR | EAR | MARL | (EAR | Mok | AR | MRL | AR | MEL
KR OM K| 666 29.2%| 1,076 | 48.0%| 1,025| 51.2%| 1,043 | 85.6%) 1,181 | 85.8%] 1,116 | 86.7%
i oXx B B ol 0.0 1| 0.0 1| 01 1{ 0.1 1 01 1| 01
BAKME 21| 0.9 4| 0.6 13| 0.6 4| 1.1 1| 1.1 14| 11
g R MK | 1665 68.7 | 1141 50.9 943 | 47.1 144 | 11.8 155 | 11.8 189 | 10.8
% RHEAR 9| 0.4 2| o1 9| 0.5 8| 0.7 7| 05 7| 058
| BIRIPIHAX 19| 0.8 8| 0.4 9| 0.5 9| 0.7 0| o7 10| 0.8
" 3t 1,598 | 69.9 | 1,151 | 51.4 961 | 48.1 161 | 18.2 172 18.0 156 | 12.1
& 5t | 2,280(100.0 | 2,242 [100.0 | 2,000 [100.0, | 1,219 (100.0 | 1,818|100.0 | 1,287 100.0
#£2—30 EURH -FEHEARAOEE(RBMEIER)
L LIRS S HeE 1L e | LNG |mmyx
i, 0 [amaniee) [Bmmire)] cmommine)| BUmsea ] Aaed) | o) (¢} |C(10°Nwt) | (10°Nut )
A B M B (1,116,028] 179,106 12,660] 458,028 o| 649,789 156,497 11,222 0| 814,69
itk R # B[ 1,316] 2,802 4,908 52,464 o| 150,174| 68,850 20,182 o| 125,762
B OA B M| 14,028) 118,957 11,940| 88,158 0 164,050 81,909 19,682 0| 68,862
g | BT K| 138756 56,690 10.686| 291.368) 24,848 485422 49,800 77,844[1.729.558 282,778
;; REt X 6,939| 69,046| 5,092 127,048] 983,7791,184,965| 43,448 4,015 o 22,778
# | BAPSHX | 10,188( 21,486 1,508| 9,8% of 82,834 14,98 1,5% of 9.848
b 3 155,883| 149,172| 17,181| 528,296[1,008,622]1,708,221| 107,687 88,457[1,729,558 814,894
& 3 |1,287,256] 585,087 46,689 [1,076,936(1,008,622/2 667,284 4149 1a4,4431.729,55é| 818,708]
F®2-31 HBRI-—BMEEEHEEOER
(Hfr: Frr)
2 4 50 56 57 58 59 60
HhiR BEHIEE | MARH | BRI | MUREG | SRR | HEARLE | BECIER | MARME | SEEHER | MIARLE | SRHHER | MEREH
A KRB 16| 30.8%| 8.9 22.4%| 3.0| 22.1%| 2.1| 17.4%| 2.5| 19.4% 1.9| 16.9%
KK H# 8 3| 5.8 1.2| 6.9 1.3 9.6 1.4] 10.7 1.5 11.6 14125
B KR % 5| 9.6 1.9 10.9 1.7 125 1.6 18.2 1.8| 14.0 1.6 | 14.8
g8 X 23| 4.2 6.1| 35.1 4.0| 29.4 3.3| 25.6 3.2 24.8 8.1| 27.7
;‘é KA X 4) 77 3.8 21.8 3.2| 23.5 3.5| 29.0 3.4| 26.3 2.7| 24.1
B | e 1] 19 0.5| 2.9 0.4] 2.9 05| 4.1 0.5| 3.9 05| 45
L &t 28| 53.8 10.4 | 59.8 7.6| 55.8 7.8 | 58.7 7.1 65.0 6.8 | 56.8
& #t 52 [100.0 17.4 (100.0 13.6 {100.0 12.4 |100.0 12.9 |100.0 11.2 | 100.0
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